EAGRAROBREERT — 2 N— ABISH —F

202058 H25H (X) 11E£R2H

KW >5%3®% B7 (xwlw | mEmml - |5 @) o s
[x&4£] 1% :270,000™ ~ 23#%&:7500M”  3#%&:37,000M  43%&:27,00MH . 573%&:21,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
RS B 3 | TERE 1:31.7 3-3-2-2 [ 39.5| — 1 448 | EBEIX (23R)
11718 FE2KT 54.0 (-) 7 AEIE5A
L:Tw TRy b B AhTAF v HET77— L
olglo SLTY—Jx bR 4 3 i;ﬂ;% 1:(332).4 1-1-1-1 | 40.4 | — 6 458 ngé (£R)
LEXLTv P xEE BLLTU—FaTrA 8 | Zms
# 3 | HEBH 1:33.2 2-2-4-3 |40.7| — | 2 | 416 |RERE (&R
31111 X2 /TR 51.0 @ ) T(Fl) J P N#EHF
:ErTFAVY BIIXINY—T7 KT 7— L4
o= AAE : —6-6- — Biske (£R)
4 0| 74 —2F T4 3 ek 1.(3;1).0 7-6-6-5 | 40.5 5 <4+112) e (25
R:T—7TA—Z B:AE)—FTN-2 BAR XE
K . 4 3 | AERD 1:34.1 5-5-3-4 | 41.7| — 8 420 | BRI (£R)
5 6l v A51.0 (3/4) (+4) @) J PN
RIET7RAT7 BiREZ—Y>T4=— J—HrTr—L
6 3| HRU—XTISZ 3 f_ﬁﬁoﬁﬂz 1:(365).3 9-9-9-6 [40.6| — | 10 | 425 Eﬁ%g (£3R)
R:TUA-—Y B:FXI-TY-X (-6) bdLye]
t 3 | THEEA 1:35.4 6-7-7-9 |[41.7| — | 7 | 462 |BAZ (&)
718|100\ K=757% * 56.0 (3/4) Cio) | FE—E
RIAS>TIyva BHITHLNET 5
= 3 | BEER 1:35.6 8-8-8-8 |41.6| — 4 511 | REE (£R)
8l7|7|717FhZZX b 56.0 (3/4) -2) T(Iﬁl) JPN;&EH
R:TvREYA BTFLLR J =¥ Ty — I
E ) # 3 | TREA 1:35.6 3-4-5-6 |42.5| — 3 502 | HOEEFNE (£9R)
]4 74 TxvON 5.0 (7€) W) | W) 77-xbEvar
¥ JANZN B:ZXF—U)-X> fisibie]
rhE#sfh .36, —10-10- . — =isRe (£2R)
olsls|T7ENF LAY 4 3 il 1(356)6 10-10-10-10| 40.2 9 ;1:3:) el
L:vavFrrheT B:xA+Tdz)-71X AR
® 1 —F—@EBIERL
13—7+— 9,1,(4,8),6,10,2,7,3,5
23— — 9,1,8,4,6,2,10,7,3,5
Ja=9= 9,8,6,1,4,2,10,7,3,5
40—F— 9,8,1,6,2,(3,4),7,10,5
[ N5
B 8 190M 714K 8-9 370M B 7-8 940M JEE 1-8-9 850F9
B B 8 110H9 1-8 140H e B 7-8 1,270M 3B 8-9-1 4,000
9 240M 1-9 510M B & 8-9 1,100
1 110M B H 8-9 1,460

ARICOVWTRDTEEERROODE. TR LI,




